
 HA-1002-a-23-1-o 4 / 9 lees verder ►►►

1p 11 Which sentence fits the gap in paragraph 8? 
A Clearly, it is not enough to turn the tide 
B Fortunately nobody is able to sing along 
C So, perhaps there is still hope 
D Too bad rap has such a bad name 
 
 

Tekst 5  Blue-sky thinking 
 

1p 12 What becomes clear about Uganda Airlines in paragraph 1? 
A It can be seen as a billboard for the nation. 
B It needs to expand in order to become lucrative. 
C It spares no costs in pampering its passengers. 
D It will be of global importance in the near future.  
 
‘It has also placed orders for two wide-body Airbus A330-800s’ (alinea 1) 

1p 13 In welke zin verderop in de tekst wordt duidelijk dat er in Afrika geen 
praktische behoefte is aan nog meer vliegtuigen? 
Citeer de eerste twee woorden van deze zin. 
 

1p 14 What is the main aim of paragraph 2? 
A to add context to the development of Uganda Airlines  
B to explain the necessity for creating a new Uganda Airlines  
C to outline the competition that Uganda Airlines faces 
D to question the commercial potential of Uganda Airlines 
 

1p 15 Which of the following summarises the point made about African national 
airlines in paragraphs 3 and 4? 
A Their goal is to boost the image of local politicians. 
B Their popularity guarantees their financial success. 
C They are intended to stimulate general economic growth. 
D They serve to impress and attract wealthy foreign visitors. 
 

1p 16 Which of the following is suggested in paragraph 5? 
A In nearly all cases private airlines can offer cheaper flights than 

national ones. 
B National airlines tend to be run by corrupt civil servants with negative 

effects. 
C The more affluent part of the population finds having a national airline 

very appealing. 
 
‘The gleaming ranks of planes on the tarmac in Addis Ababa’ (alinea 7) 

2p 17 Welke twee verklaringen voor het succes van Ethiopian Airlines worden 
genoemd in alinea 6? 
Geef antwoord in het Nederlands.  
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1p 18 Which of the following fits the gap in paragraph 8? 
A eliminate 
B ignore 
C liberalise 
D restore 
 
 

Tekst 6  Are You Too Smart to Think Wisely? 
 

1p 19 What conclusion can be drawn about Einstein and Conan Doyle from 
paragraphs 1 and 2? 
A Despite their shameful behaviour at times, they remained popular with 

their followers. 
B Their inability to see through obvious deceit made them objects of 

ridicule. 
C Their promotion of outdated convictions was damaging for their public 

image. 
D Though they were clearly gifted, they made some remarkable errors of 

judgement.  
 

1p 20 What is the main point made about intelligence in paragraph 3? 
A It branches out in different directions over time. 
B It is a complex and many-sided concept. 
C It takes a genius to understand the construct. 
 

1p 21 Which of the following fits the gap in paragraph 4? 
A ignorant of 
B prejudiced against 
C sensitive to 
D shocked by  
 

1p 22 Which of the following best captures the phenomenon described in 
paragraph 5? 
A abstract thinking 
B cultural misunderstanding 
C motivated reasoning 
 

1p 23 Which feature of intelligence is presented in paragraph 6? 
A the ability to absorb vast amounts of complex information quickly 
B the ability to focus intensely on just one subject of research 
C the ability to make systematic use of the available data 
D the ability to reach correct conclusions based on intuitive insights 
 
 
 


